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ENGLISH VERSION

Instructions : (1) Figure in the right side indicate marks.

(2) Answer according to instructions in question.

1 What is function ? When is inverse of a function exist ?

State five functions used in Economics.

OR

1 Explain in detail concept of set and State set-processes

also site illustration for definitions.

2 Write characteristics of determinants and explain use and

limitations of Cramer's rule.

OR

2 Explain about economic models and state its uses and

limitation and discuss the market model.

3 Answer any ten from the following :

(1) State Sub-sets for A={a, b, c, d}.

(2) Obtain Cartesian product 4% B for A= {1, 2, 3} and
B= {a, b, c} .

(3)  What is the value of a determinant with two rows being

equal ?
(4) State subset of ¢.

(5)  Which model was given by Prof. Liyontiff ?

20

20

20

20

20
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(6) Compute jx—dx ?
0

(7)  Obtain f'(x) for f(x)=(5x3—6x2)6-

(8 Compute

W M =

EENVO I ]

—_ o
|8

(99 What is y —intercept and slope values for function

Y =38-0.23X%7
(10) State N-S conditions for inverse of a Matrix.

. 3 2
(11) Compute limit for 1M (x - 2x +3x+6) _
x—>0

(12) Compute MR function of TR  function

R:50° 307 +150 +17.

(13) Give an illustration of structural form of the model.

6 3 1
(14) Evaluate s =2
2 3 4

3 =5
(15) Compute inverse of matrix |:1 2} )
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4 Answer following MCQ type questions with selection of 10

the most appropriate answer :

(1) Which symbol is used as constant in mathematics.

A4)

T (B) x

© t O Y

(2) Which of the following is a finite set ?

4)
(B)
©)
@)

Set of positive integers.
Set of negative Integers.

Set of Ex-PMs of India.

Set of real number.

(3) If f(JC)ZE, then f'(x) =

1
@ 1 B =
(©) EQ (D) Zero

@ TIf f(x)=€", then B _

dx
@ ¢ B)
€ 0 M 1

1
(5) What is inverse fn of y=-30+ gx.

4)

(©)

1
x=30—gy (B) x=6(30+y)

x=—180+ 6y (D) Inverse does not exist.
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(6) Which of the following in Indentity Matrix ?

11 0 1]
VR B |11 9

10 0 1]
© 19 1 O 1 o

(7Y What is FC function for TC funection

C:50° - 5007 + 150 + 150 2

A 5 (B) 50
© 15 O 150

(8) Which of the following concept is useful in computing

consumer's surplus ?
(A) Differentiation (B) Integration
(C) Determinants (D) Matrices

(9) Which is exogeneous variable in y=C+7J +G ?

A C @ I
© G O v
(10) lim 1.
x>0 x
@ 0 B 1
(C) Tnfinite (D) Limit does not exist.
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